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1. Solve this rational equation: x+ 4 x~ R

2. Write the equation of this graph which is a transformation of y = —xz—
a)

3. Graph this transformation of the parent reciprocal function. Show the asymptotes as dashed lines
and state the equations of the asymptotes.
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4. The parent reciprocal function has been translated 8 units left and 12 units down. The branches
are in quadrants Il and IV. Write the equation of this function.
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3. Graph this transformation of the parent reciprocal function. Show the asymptotes as dashed lines
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and state the equations of the asymptotes. o
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4. The parent reciprocal function has been translated 8 urits left and 12 units down. The branches
are in quadrants Il and IV. Write the equation of th_iiiunction.
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